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M.Com. (Global Business Operations/Blue Economy And Maritime Law)

General Instructions

1. The Question Paper is having two Parts — Part ‘A’ Objective type (60%) & Part ‘B’
Descriptive type (40%).

2.  Objective type questions which carry 1 mark each are to be (v) ‘tick marked’ in the
response sheets against the appropriate answers provided.

3. 8 questions are to be answered out of 12 questions carrying 5 marks each in Part ‘B’.
Negative marking : 0.25 marks will be deducted for each wrong answer
in Part ‘A’

Time : 2 Hours Max. Marks : 100

To be filled in by the Candidate

Register | in Figures
Number

in words

PART — A
(Objective Type)

Choose appropriate answer from the options in the questions. One mark each.
(60 x 1 = 60 marks)

1. The I1SO 4217 standard of International Organization for Standardization is
associated with

a) Gold b) Silver
c) Platinum d) Currency



2. The economy of which European country is referred to as the “Celtic Tiger™?
a) Iceland b) Ireland
c) Finland d) Denmark

3. E- Shaktiis a project launched by which of the following organizations?

a) NABARD b) ICAR
c) SEBI d) SAT
4. Who is the new Comptroller and Auditor General of India?
a) Rajiv Mehrishi b) Dr. Rajeev Kumar
c) Deepak Mishra d) Amitab Kant
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10.

11.

12.

13.

14.

Who is the Chairman of Niti Aayog?

a) Rajeev Kumar b) Venkiah Naidu
c) Narendra Modi d) Ram Nath Kovind
Who is the Attorney General of India?
a) Vinay Mittal b) K.K. Venugopal
c) Rajiv Mehrishi d) None of these
Which was declared as State fruit of Kerala?
a) Jack fruit b) Coconut
c) Mango d) None of these
Who is the Chief Economic Advisor of India?
a) Aravind Subramanian b) R. Chidambaram
c) Ajith Doval d) None of these
Who is the Chairman of University Grants Commission?
a) D.P.Singh b) Rajiv Gauba
c) Sabjay Mithra d) None of these
The first woman pilot of Indian Navy
a) Shubanghi Swaroop b) Avani Chaturvedi
c) Neeraja Bhanot d) None of these
State the American retail company that took over Flipkart
a) Wal-Mart b) E-bay
c) Snap deal d) None of these
Samsung opened the world’s largest mobile production factory in
a) Bengaluru b) Mumbai
c) Kolkata d) Noida
The airport which bagged UN’s Champion of Earth Prize 2018.
a) Bengaluru b) Delhi
c) Kochi d) Chennai
International Literacy Day
a) September 8 b) June b
c) March 8 d) October 8
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15.

16.

17.

18.

19.

20.

21.

Indian American woman who was appointed as the Chief Economist of
International Monetary Fund

a) Dipika Pallikal b) Kumi Naidu
c) Gita Gopinath d) Hima Das.

A and B started a business investing Rs. 22,500 and Rs. 35,000 respectively.
Out of a total profit of Rs. 13,800, what is B’s share?

a) 7400 b) 7600
c) 8400 d) 8600

The price of a scooter and TV are in the ration of 8:7. If a scooter costs Rs. 2,000
more than the TV, then the price of TV is

a) 14000 b) 12000
c) 13000 d) 14500

The value of a machine decreases by 5% annually. If the present value is
12,000, what will be its value before 2 years?

a) 13296.30 b) 13176.30
c) 14296.20 d) 13196.40

A shopkeeper sells a bag at a loss of 10% and he got Rs.315. what is the cost
price of the bag?

a) Rs.320 b) Rs. 350
c) Rs.340 d) Rs. 360

The weight of a 10-year-old girl was 32 kg. But it was misread as 36 kg. Find the
error percentage.

a) 12.75% b) 13.50%
c) 14.75% d) 12.50%

In an examination there are two subjects, Mathematics and English. 60% of
students passed in Mathematics and 65% of students passed in English. 25% of
students failed in both English and Mathematics. Find the percentage of students
who passed in both

a) 40% b) 50%
c) 45% d) 55%
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22.

23.

24.

25.

26.

27.

28.

A man spends 72% of his monthly income. If he saves 2380 per month, what is
his monthly income?

a) 8000 b) 8400
c) 8200 d) 8500

In a hostel, there are 300 students. 50% of them drink coffee, 60% of them drink
tea and 20% of them drink both. Then how many of them drink neither tea nor
coffee?

a) 10 b) 20
c) 15 d) 30
A candidate scoring 25% in an examination fails by 30 marks while another

candidate who scores 50% marks get 20 marks more than the minimum marks
required for pass. What is the maximum mark for the examination?

a) 100 b) 150
c) 200 d) 300

A vendor increased the price of a commodity by 20% and then gives a reduction
of 10%. What will be his profit Percentage?

a) 10 b) 12
c) 08 d) 15

Rahim bought an ankle for Rs. 1600/- and sold it to Balan at a gain of 10%.
Balan sold it to David at a gain of 10%. At what price did David buy the article?
a) 1693 b) 1936

c) 1396 d) 1963

There are 5 balls in a bag, 3 of them are red and 2 of them are blue. What is the
probability that a blue ball will be picked?

a) 3/5 b) 5/3
c) 2/5 d) 5/2

A single card is chosen at random from a standard deck of 52 playing cards.
What is the Probability of choosing a card that is not a king?

a) 4/13 b) 13/52
c) 1113 d) 12/13
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29.

30.

31.

32.

33.

34.

35.

36.

A single letter is selected at random from the word “PROBABILITY” What is the
Probability that it is a vowel?

a)  3/11 b)  4/11
c)  2/11 d) 0

6 persons in a meeting shake hands with each other. How many handshakes
were interchanged?

a) 06 b) 12

c) 15 d) 10

| can boost your morale but | cannot your success
a) Ensure b) Visualize

c) Vitiate d) Guarantee

| am not willing to buy this junk of a car this price.
a) For b) At

c) With d) On

Look otherwise you will the train.
a) Straight, run into b) Sharp, miss

c) Around, not see d) Up, board

is to cowardice as spend thrift is to

a) Courage, waste b) Velour, parsimony

c) Police, criminal d) Challenge, investment

He paid a large sum as to the kidnappers of his son for the
a) Reward, freedom b) Compensation, unkeeps

c) Ransom, release d) Charges, stay

God is a circle whose is every where but is now here
a) Presence, center b) Center, circumference

c) Length, width d) Arc, radius
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37.

38.

39.

40.

41.

42.

43.

He thinks that American films are more

a) Shocking, category
c) Violent, sisters

than their European

b) Exciting, Counterparts
d) Trite, versions

The reason why | am late is

a) That
c) Since
She has a

a) Luxurious

c) Luxuriating

If you
provisions from our store.

a) Pay
c) Can pay

a) No word

c) These

Today is the seventh

a) Consecutive
c) Straight

The ship finally sailed with its full
a) Compliment

c) Credit

the bus had a breakdown.
b) Because
d) Dueto

growth of hair which cascade down to her waist.

b) Luxuriant
d) Luscious

in advance, you will have no problem with home delivery of

b)  Will pay
d) Have to pay

few customers he had today wanted to buy provisions on credit.

b) A
d) The

day of the unbearable heat wave.

b) Successive

d) Continuous

of sailors on board.
b) Complement

d) Load
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44.

45.

46.

47.

48.

The British

P.
Q.
R.
S.

an unbridgeable gap
and the Indians who
between themselves
thus created.

Were thoroughly exploited.

a)
c)

SPRQ b)
RSPQ d)

The weapons

P.
Q.
R.
S.

Do not necessarily cause war
Increasing terrible

They make war

Which science gives us?

And castastrophical

a)

o O T

)
)
)

BD, FH, JL, NP

a)
c)

7,14, 23, 34, 47,62,

a)
c)

RQPS
PSRQ
SPRQ
QSPR

SV b)
QS d)

79 b)
82 d)

D—BADC—A—CBADCB—

a)
c)

ABCD b)

CDBA d)

SPQR
PQSR

SU
RT

92
94

ACDB
CBDA

N - 3583



49.

50.

51.

52.

53.

54.

55.

Find the word which can be formed from the letters of the given word
‘“MEASUREMENT”.

a) MASTER b) MANTLE
c) SUMMIT d) ASSURE

In a certain code “POET” is coded as “PEOS”. How is “LEAF” coded in that
code?

a) LAAF b) LAEE
c) LAFE d) LEFA

If COW is coded as 358, WORD is coded as 8571 And DRAW is coded as 1708
then how would you encode the word COWARD?

a) 358017 b) 358071
c) 358077 d) 507381

Ravi goes 40 kms to North, then turns right and walks 50 kms then again turns
right and walks 30 kms, then again turns right and walks 50 kms. Now how many
kilometers is he from his original position?

a) 0 b) 20
c) 10 d) 40

5 books are ling in a pile. E is lying on A and C is under B. A is lying above B and
D is lying under C. which book is lying at the bottom?

X and Y are children of Z. Z is the father of X but Y is not the son of Z. What is
Y to Z?

a) Sister b) Daughter

c) Nephew d) Cousin

Arrange the following in their natural sequence of descending order and then find
out the last word.

Street, Neighbourhood, Family, Town

a) Family b) Street

c) Neighbourhood d) Town
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56.

S7.

58.

59.

60.

If ‘—" means multiplication, X’ means addition, ‘+’ means division and /" means
subtraction, then: 14 — 10 x4 /16 + 8 =7?

a) 45/2 b) 142
c) 168 d) 194

Find the missing number:

18 | 7 | 16
8 | 3] 10
10 [ 4] 2
a) 9 b) 11
c) 7 d) 8
f3=6,4=75=8, then 6=?
a) 4 b) 8
c) 9 d) 6

If on rearranging the jumbled spellings of the word “SARBS” a metal is obtained.
What will be the first letter of the word?

a) A b) R
c) S d)

If the word INTIMATION, INFORMATION, INTEREST, INTERROGATION and
INVESTIGATION are arranged according to dictionary, what will be the fourth
letter of the last word?
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10.

11.

12.

Global Business Operations/Blue Economy And Maritime Law

PART - B
(Descriptive Type)

Answer any eight questions. (8 x 5 =40 Marks)
Each question carries FIVE marks.

Explain the relevance of TRIPS in global business scenerio.

Explain the application of Linear Programming in managerial decision making.

Write a note on Total Quality Management in raising the standards of modern
business competence.

What are the salient features of Special Economic Zones?

Define corporate governance. Briefly explain the mechanisms of corporate
governance adopted in India.

Briefly explain the factors that lead to entrepreneurial failures in India.

Expand and state the locations of the following:
a) WTO b) IMF c) BSE d) ASEAN e) SAARC

Explain the major documents attached to export trade transactions.
What are the advantages and disadvantages of free international trade?

Define good governance. Briefly state the major characteristics of good
governance.

Define demand forecasting and explain the methods of demand forecasting.

Define valuation and explain the concepts of value.
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